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QUESTION 1 
Which of these best describes the Cisco Lifecycle Services approach? 
 

A. a methodology for proactively updating equipment before it reaches the end of its life 

B. a methodology for introducing new technologies 

C. a methodology for creating a business plan 

D. a methodology for determining total cost of ownership  

 
Answer: B 
 
 
QUESTION 2 
At which stage of the Cisco Lifecycle Services approach would you recommend supporting and 
troubleshooting the system? 
 

A. Preparation 

B. Planning 

C. Design 

D. Implementation 

E. Operation 

F. Optimization 

 
Answer: E 
 
 
QUESTION 3 
At which stage of the Cisco Lifecycle Services approach would you test for system acceptance? 
 

A. Preparation 

B. Planning 

C. Design 

D. Implementation 

E. Operation 

F. Optimization 

 
Answer: D 
 
 
QUESTION 4 
What is one reason you might recommend a solution using only autonomous access points to a 
customer? 
 

A. The customer requires Layer 3 roaming. 

B. The customer requires immediate wireline integration with a Catalyst 6500 switch. 

C. The customer needs an outdoor-ready access point. 

D. The customer wants the option to migrate to LWAPP. 

 
Answer: D 
 
 
QUESTION 5 
What is the purpose of the Dynamic Configuration Tool? 
 



A. to determine the correct IOS image to support your modules or blades 

B. to allow for the mass deployment of devices with minimal configurations 

C. to test router configurations virtually prior to implementing them in your production network 

D. to provide an easy way to check for known bugs in IOS releases 

E. to verify that hardware such as modules are compatible with your chassis 

 
Answer: E 
 
 
QUESTION 6 
Which of these statements about CiscoWorks is true? 
 

A. The LMS interface can manage a maximum of four CiscoWorks servers. 

B. CiscoWorks SNMS supports integration with HPOV. 

C. CiscoWorks does not require TCP reliability. 

D. CiscoWorks Restricted is the recommended choice for large enterprise. 

 
Answer: C 
 
 
QUESTION 7 
A customer is considering purchasing either a Cisco Catalyst 2960 or Cisco Catalyst Express 500. 
Which feature can only be found on the Catalyst 2960? 
 

A. 48 Ethernet 10/100 ports 

B. Fast Ethernet and Gigabit Ethernet connectivity 

C. dual-purpose copper or fiber uplinks 

D. standalone fixed-configuration Layer 2 switching 

 
Answer: A 
 
 
QUESTION 8 
Which three of these service components are in the design phase? (Choose three.) 
 

A. Account Qualification and Planning 

B. Detailed Design Development 

C. Staff Training 

D. Systems Acceptance Test Plan Development 

E. Staging Plan Development 

F. Site Readiness Assessment 

 
Answer: BDE 
 
 


